
Ha a számrendszer alapszáma a, akkor

N = a2n−2 + 2a2n−3 + 3a2n−4 + . . .+ nan−1 + (n− 1)an−2 + (n− 2)an−3+

(1) + . . .+ 3a2 + 2a+ 1

és

a×N = a2n−1 + 2a2n−2 + 3a2n−3 + . . .+ nan + (n− 1)an−1+

(2) +(n− 2)an−2 + . . .+ 3a3 + 2a2 + a

(1)-et (2)-b®l levonva:

(a− 1)N = a2n−1 + a2n−2 + a2n−3 + . . .+ an − an−1 − an−2 − . . .− a3 − a2 − a− 1 =

= an ·
an − 1

a− 1
−

an − 1

a− 1
=

(an − 1)2

a− 1

mib®l

N =

(

(an − 1)

a− 1

)2

s így √
N = an−1 + an−2 + an−3 + . . .+ a3 + a2 + a+ 1,

mely kifejezés 
sakugyan olyan n jegyú szám, melynek minden jegye : 1.

(Filkorn Jen®, Nyitra.))
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